ማሕበር ልምዓት ዓድዋን ኸባቢኣን

Dedicated to transfer technology and knowledge

ኣብ ስማግርን ተክኖሎጅ ፍል ስትን ንምሕ ጋዝ ክንሰርሕ ኢና፥፥

ASDA, PROJECT 2017

Project Title: Sport materials to the Youth/ ስፖርታዊ ኣቑሑ ንጮንእሰያት ዓድዋን ኸባቢኣን

Project owner: Adwa and Surrounding Development Associations- USA/iLondon, Australia, Israel, Ethiopia

Objective:

To help the young generation with sport materials to be a well disciplined and productive citizens and to develop the participation of our region in several sport activities by creating the opportunity to Adwa and surrounding villages- Adwa Town, WeiLeke, and Merebleke areas(selected based on their well organized information and by the drawing made to narrow down the scope). The sport materials include, soccer Balls, volleyball balls, soccer suits, volleyball suits, swimming suits, athletes shoes, soccer shoes, Tennis Tables, Rackets tennis balls and related materials.

ASDA USA Budget: 10,000 DOLLARS OR Birr 243,000. Each around Birr 81,000.00

Financing:

fundraising and ASDA 2017 dinner party, Atlanta,

Implementation:

Committee from ASDA Ethiopia and respective Youth Associations or sport commission of the towns selected will work together and implement the project by July 17, 2017.

Followup: ASDA representatives, the club members, and town administration will do follow-up meeting every three months for 1 yr

Limitation:

the demand and supply are not close enough; the demand is extremely high. ASDA alone can not cover all the cost. ASDA could not address every request. ASDA will support as much as possible and this may encourage others to follow ASDA. individuals, other organizations, and respective local administration will take more initiative to get involved.

Cost Information- Based on the current market of Ethiopia, all materials will be purchased from Ethiopia.

Based on Current Ethiopian Market=

Ball soccer 800birr Valley ball 600 birr Football t-shirts & Shorts 500 birr Valley ball t-shirts & shorts 500 birr Soccer shoe anbesa or jamayka 650 birr Runners shoe 2300 birr Swimming suite 2500 birr

Beneficiaries detail:

ኣብ ከተማ ዕዳ*ጋ* ዓርቢ ኣብ ምንቅስቃስ ስፖርት ዘለዉ ዓይነት *ጋ*ንታታትን በዝሖምን በዚ ዝስዕብ ሰደቃ .

	ዓይነት ስፖርት	ሐቅ ላላ በዝሒ	ተጠባበቅቲ	ደቂ ኣንስትዮ
		ሰብ		
1	ኩዑሶ <i>እግሪ</i>	4X18=72	28	ኣብ ኩዑሶ <i>እግሪ</i> ደቂ
	ኣርባዕተ <i>ጋንታ</i> ኣለዋ			<i>ኣ</i> ንስትዮ የለዋን
2	ቮሊቦል ደቂ ተባዕትዮ	12	6	
3	ቮሊቦል ደቂ ኣንስትዮ	12	6	
4	ኣትለትኪስ ካብ 100ሜ-	40		<u>እተን 20 ደቂ ኣንስት</u> ዮ
	3000ሜ			



ADWA and SURROUNDING DEVELPOMENT ASSOCIATION

ማሕበር ልምዓት ዓድዋን ኸባቢኣን

Dedicated to transfer technology and knowledge

COST Estimation

c	ዓይነት ስፖርት	ሐትላላ በዝሒ ሰብ	ተጠባበቅቲ	ደቂ ኣንስትዮ
1	ኩዑሶ <i>እግሪ</i>	4X18=72+28=100	28	ኣብ ኩዑሶ <i>እግ</i> ሪ ደቂ ኣንስትዮ የለዋን,100
	ኣርባዕተ <i>ጋንታ</i> ኣለዋ			*500=birr50,000 shorts and shirts
				100*650=birr65,000 shoe
				20*800=birr16,000 balls(4 teams 5 ball each)
2	ቫሊቦል ደቂ ተባዕትዮ	12+6=18	6	18*500=birr9,000 shorts and shirts
3	ቮሊቦል ደቂ ኣ <i>ን</i> ስትዮ	12+6=18	6	18*500=birr9,000 shorts and shirts
4	ኣትለትኪስ ካብ 100ሜ-	40		<u>እ</u> ተን 20 ደቂ ኣንስትዮ
	3000ሜ			40*2300=birr92,000 athletics shoe
				TOTAL=Birr 241,000
				ASDA budget =
				Soccer ball =20*800=16000
				Volleyball=20*600=12000
				Athletics shoe=23*400=9200
				TOTAL ASDA 81,000 BIRR

ብኽልል ደረጃ ዝዓበየ ማድብ ምስ ምህላዉ ሓጮሳ ኣብዚ ኸባቢ ፉሉይ ትኹረት ተዋሂብዎ ኣሎ

ተ ቁ	<i>ዓይነት</i>	በዝሒ ሰብ	ፆታ/ተባ ኣነ/
	<u></u> ዅዕሾ <i>እግሪ</i>	22	<i>+ባ/ኣ†</i>
	ቮሊቮል	14	<i>+ባ/ኣז</i>
	ኣትለቲክስ	30	<i>+ባ/ኣז</i>
	ፈ መሳ	30	ተባ/ኣነ

COST estimation

<i>† </i>	ዓይነት	በዝሒ ሰብ			
	ዅዕሾ <i>እግሪ</i>	Shorts and Tshirt 22*500=11,000BIRR			
		Shoe 22*650=14,300 birr			
		Balls 10*800=8,000 birr			
	ቮሊቮል	Shorts and Tshirt 14*500=7000 birr			
		Balls 5*600=3000 birr			
	ኣትለቲክስ	Shoe 30*2300=69,000 birr			
	ተ መሳ	Suit 30*2500=75,000 birr			
		TOTAL=187,000 BIRR			
		ASDA Budget=			
		Swimming=20*2500=50,000birr			
		Soccer suit =11000 birr			
		Soccer ball =4000 birr			
		Athletics Shoe=10*2300=23,000 Birr			
		TOTAL ASDA 88,000 birr,			

ADWA TWON



ADWA and SURROUNDING DEVELPOMENT ASSOCIATION

ማሕበር ልምዓት ዓድዋን ኸባቢኣን

Dedicated to transfer technology and knowledge

Dedicated to transfer technology and knowledge <u>አብ ስማማርን</u> ኣብ ምንቅስቃስ ስፖርት ዘለዉ ዓይነት *ጋ*ንታታትን በዝሖምን በዚ ዝስዕብ ሰደቃ .

ተ.ቁ	ዘድሊ ናውቲ ስፖርት	ጠቅላላ	ደቂ	 ብርሂ	
		በዝሒ ሰብ	ኣንስትዮ		
1	ጠረጴዛ ኹ ዑሶ ሰደቓ				
	9				
2	ም ውቅዒ ኹዑሶ ሰደቓ				
	18				
3	ደርዘን ኳዓሳሱ				
	12				
	12				

Cost Estimation

ተ.ቁ	ዘድሊ ናውቲ ስፖርት	ጠቅላ ላ በ ዝሒ ሰብ	ደቂ ኣንስትዮ	
1	ጠረጴዛ ኹዑሶ ሰደቓ			
	9 * 13500=121,500birr			
2	ሞውቅ ዒ ኹዑሶ ሰደቓ			
	18 *500=9,000 birr			
3	ደርዘን ኳዓሳሱ 12*40=480 birr			ሃላቕን በተን እቶም ጠርጴዛ ዝተረከቡ ሙንእሰያት እንዳተተከኧን ዝኸይድን እዩ
	Total 130,980 birr			<u> </u>

Commented [F1]:

ASDA BUDGET- Table 5*13500=67500 birr Racket 18*500=9000 birr Balls 12*40=480 birr ASDA TShirts 50*50=2500 Total =79,400 birr			
--	--	--	--

INFORMATION OF OTHER TOWNS AND VILLAGES/

አብ ማይ ቅንጣልን ነበለትን
ዘለዎ አብ ስፖርት ዝንቀሳቀሱ ኣብ ኩዑሶ እማሪ ጥራሕ እዮም
አብ ማይ ቅንጣል ኩሎም ደቂ ተባዕትዮ ኮይኖም 4 teamsX18=72
ብተ-መሳሳሊ አብ ነበለት ኩሎም ደቂ ተባዕትዮ ኮይኖም 4 teamsX18=72
ማይ ቅንጣል=72*...shoe 650*72=46800 birr
balls, 800*20=16000 birr......4 teams 5 ball each shorts & Tshirts=500*72=36000 birr
total 98,000 birr

ነበለት = 72*.... shoe 650*72=46800 birr balls, 800*20=16000 birr......4 teams 5 ball each shorts & Tshirts=500*72=36000 birr total 98,000 birr

ENTICHO.....